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El 103 83 97 100 95.8 8.85

89.3 21.36

30



mz »Efir »

12 OAe «t = »¥fir -

10

8

6

4

; 1 lonnl

0 T |'_'|I T T "Iﬂl |'_'|I |'_'|I T T Ijl
35 45 55 65 75 8 95 105 115 125 135
41 = pifirv r<pe <t 2 pifir »—  Nevd—

31




2 v %lFee¥fivr— - A : :
&5 < k,15-250,20-300, 25-356 - %1 Ly d -4 43,4445~ V.
3V | - Z2 V.

-e=0e 4t 2 p¥fir r— L 46,47,48- V.

3V pdLlse —='hd 4,-"h - A
- — d 41 e «t 2 p¥fiv »— L 42~ V.

- o= | nedtzp¥fivi— % ™M <% |[fhof V. =%
: — Y% 15-250- %1t = »Efir » — Y% 26%, ne <t = »
$fi » » % 5. 7% ™e % |, - o= |z p¥firr— %oe <tz »
¢fir - =,/ 46  HB™M <% W V.
VL= ™| #Ne| 1 <% 14V (t-test; t=2.550578, p<0.05).

32



(15-250)

» 8 fi» =

\\

4-3

16 20 24

12

0

(day)

60

60

60

60

20

Al

A2

10
30
50
50
10
10
30
10
26

10
23.594 21.213 21.187 21.187

30
50
50

10
20
50
50

10

A3

A4

40

Bl

50

10

10

B2

10
10
30

10
10
30

B3

B4

C1

10
26

10 10
25

17

10

C2

(%)

6.992

3.162

0

(20-300)

» 8 fi» »

\\

4-4

16 20 24

12

0

(day)

Al

A2

A3

A4

Bl

B2

B3

B4

C1

C2

(%)

33



(25-350)

> Efir »

(day)

4-5

24

20

16

12

0

Al

A2

A3

A4

Bl

B2

B3

B4

C1

C2

(%)

(15-250)

» 8 fi» »

z

4-6 e «i

16 20 24

12

0

(day)

C3

10

10

10

10

10

C4

D1

D2

D3

D4

30
5.7

30

5.7
11.339 11.339

20

4.3
7.868

10
29

4.880

10
29

4.880

El

(%)

0

34



(20-300)

»Efir »

z

4-7 e «i

16 20 24

12

0

(day)

C3

C4

D1

D2

D3

D4

El

(%)

(25-350)

» 8 fi» »

z

4-8 e «i

16 20 24

12

0

(day)

C3

C4

D1

D2

D3

D4

El

(%)

35



50

40

30 —o— 150 -250

20 —E&— 200 -300

10 ~ A~ 250-350

0 ; T ! E; H; ! )
10 5 10 15 20 25 30
day
41 = »yfir »— - %1

50

40 —o— 150 -250
30

—&— 200 -300
20
~ A~ 250 -350

10

0 L L T | J

5 10 15 25 30
-10
day
42 ne «t = »ifir v — - %1

36




4.3.plo ( < — My —

: p5fir » 20 , e 4t = p¥fiy 12 i s =V (pollen),

(owlex ,/ 4| = plod 49,410, 42~ V.

/44— plo &£ =q{<:»¥fi» ~%6.7 ne «t = p¥fir »%7.55™
e % V.

ne «t = pi¥fiv r—plo | rF=%% %o,z »ifir—po | rl=%%
t M ™Me % | v

37



4-9 = »%fir »— plo

No pollen ovule pollen/ovul e
1 304 36 8.4
2 240 28 8.6
3 308 28 11.0
4 194 42 4.6
5 274 38 7.2
6 116 34 34
7 172 48 3.6
8 152 28 54
9 264 40 6.6
10 170 40 4.3
11 226 34 6.6
12 212 24 8.8
13 306 42 7.3
14 228 34 6.7
15 158 16 9.9
16 170 24 7.1
17 376 62 6.1
18 210 28 7.5
19 180 34 5.3
20 158 28 5.6
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4-10 e «t = »Efir »— plo

No pollen ovule pollen/ovul e
1 910 81 11.2
2 965 87 111
3 840 142 5.9
4 820 112 7.3
5 865 132 6.6
6 1350 152 8.9
7 847 184 4.6
8 944 116 8.1
9 1073 162 6.6
10 816 124 6.6
11 1057 138 7.7
12 929 162 5.7
mz > Efir »

‘o%‘\%q,@\/\/\/‘b
p/o

44 : »Efir »<pe 4t = »¥fir »— plo
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4.4. 31 o-J vy fi-ei d ™y pm o T

0% 100 g #—= »ifir~, e «t = »¥fir »— - L oy
<,3v/ 44 v £ L <o pEfirvr—ge <t = pEfi -
- A L cevalnd - oy,
Lioe «t = pofir»— p=10% 100%( —Re#r' oeJ L A

)<, = mEfie o — 2%,3%, 4% 1V .3V/ 4 ne < pyiiv—
3 - Fo" k7 o Tfiev & oV ( 44-  4-63)
3 vV p=10%¥% | 100%— A == ~ 2™=, 100 3%~ 00 4t = pEfir - -
#No V - Ly by & 24640 V.
ne «t = »Efir v — ~ |H| % - #Ng v 1. 432, 2. 448,
3. 452 %1 - % Vr L 1 y=s [V o=t b7 T
fi L - A /7q-4- | 411~ <V.
1- =],50 3 #— L 70%, / 4 75 3 #— L 60%, /
1 - L 50%< = e 13y = 4 ={vE voo-
Froe Tfid [V ( 465)
2,3r «=|,1 Y% |- 100 3 # &L 85%- v —  ( 4-66,4-67)
<, 50 3 #— L 80%, / 4 75 5 #— &L 70%, / 4 —

L 60%s , Lo, - tyVvo o~ 1 L =vE Voot

>o "fid [V ( 4-68,4-69).
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411 ne «t = »¥fir »— - |H % ENJ YV —

1. 4-32 2. 4-48 3. 4-52
p 50% 80% 90%
S 4% 3% 2%
70% 80% 80%
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